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[NomaluHas paboTa
Ne1254(a,0,B)

«a) 8,757 — (7,8 — 1,043) = 8,757 — 7.8
+1,043 = (8,757 + 1,043) - 7.8 =2

*6) 3,96 + (2,375 — 3,96) = 3,96 +
2,375 - 3,96 = 2,375

e B) 3/8 + (1/8 -3/4) = 3/8 + 1/8 -3/4 =
4/8 —3/4=2/4 —3/4=-1/4



a) -2+7,8

0) -14-6,7

0) 0,24*4
r)-1,6%0,5

n) -3,2:(-0,4)
e) 21,6100

YcTHasa pabora

x) 2,7:0,1
3) 16%3/8
n)7:%
K) 3- 2/9
1) 4- 15/6
M) -8-4/7



—(ath)= —a +a —b +b

~(a-b)= @ 4y ta b
—(—X "’J/) N +y -V —X +x
d—(~k+1)= d o, ok 1k
—m+(a —c)= - tc -m 4 +a
p—(—ntr—s)= p tr —s +s —r +n -n
—(ktt)+(—a—s)= SO tf -t —a +ta —s +ts
—(d—x)—(y—=z)= +d d —x +x +ty v +z —
Packpoit ckoGku. [L[e/TKHY MBIIKOR [0 BHIPAKEHHSM, KOTOPBIE CHUTACIIID p
npaBrIbHEIME. He ommbaiicst, TBoM omubKu Bee yBuaAT! o



CamocTtosaTernbHasa paboTa

* Bapuanrtl Bapuant2
1. (a-b)+(c-d) 1. (a-b)-(c-d)
2. -(-a+Db)-(-c-d) 2. -(-a-Db)+ (-c-d)
3. (a+b)-(ctd) 3. (a+b)+(-c+d)
4. -(a+Db)+(-c-d) 4. -(a-b)+(c-d)
5. -(a-b)-(ctd) 5. -(a+Db)-(ctd)



